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A B BE > B3k n=8
~ (6+1)%6/2-2=19

(n-2+1)*(n-2)/2-2 = (n-1)*(n-2)/2-2

» (5+1)%5/2=15

(n-3+1)*(n-3)/2= (n-2)*(n-3)/2

~ (4+1)*4/2-1=9

(n-4+1)*(n-4)/2-1= (n-3)*(n-4)/2-1

~ (3+1)%*3/2=6

(n-5+1)*(n-5)/2= (n-4)*(n-5)/2

~ (241)%2/2-1=2

(n-6+1)*(n-6)/2-1= (n-5)*(n-6)/2-1

~ (141)*1/2=1

(n-7T+1)*(n-7)/2= (n-6)*(n-7)/2



% 4r=19+154+9+6+2+1=52

(n-1)*(n-2)/2-2+(n-2)*(n-3)/2+(n-3)*(n-4)/2-1+(n-4)*(n
-5)/2+(n-5)*(n-6)/2-1+(n-6)*(n-7)/2
=(n-2)*(2n-4)/2-2+(n-4)*(2n-8)/2-1+(n-6)*(2n-12)/2-1
=(n-2)*(n-2)-2+(n-4)*(n-4)-1+(n-6)*(n-6)-1
=(n-2)*(n-2)+(n-4)*(n-4)+(n-6)*(n-6)-4
=(8-2)*%(8-2)+(8-4)*(8-4)+(8-6)*(8-6)-4

= bX6+4%4+2%2-4

= 36+16+4-4

= 92
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7 10 B2 > 3K n=10
1~ (8+1)*8/2-2=34
(n-2+1)*%(n-2)/2-2 = (n-1)*(n-2)/2-2
2~ (T+1)%7/2=28
(n-3+1)*(n-3)/2= (n-2)*(n-3)/2
3~ (6+1)*6/2-1=20
(n-4+1)*%(n-4)/2-1= (n-3)*(n-4)/2-1
4 ~ (5+1)*5/2=15
(n-5+1)*(n-5)/2= (n-4)*(n-5)/2
5~ (441)%4/2-1=9
(n-6+1)*%(n-6)/2-1= (n-5)*(n-6)/2-1
6 ~ (3+1)%3/2=6
(n=-T+1)*(n-7)/2= (n-6)*(n-7)/2
T~ (241)%2/2-1=2
(n-8+1)*(n-8)/2= (n-T)*(n-8)/2-1
8 ~ (1+1)*1/2=1
(n-9+1)*(n-9)/2= (n-8)*(n-9)/2



X Fe=34+28+20+15+9+6+2+1=115

(n-1)*(n-2)/2-2+(n-2)*(n-3)/2+(n-3)*(n-4)/2-1+(n-4)*(n
-5)/2+(n-5)*(n-6)/2-1+(n-6)*(n-7)/2+(n-7*(n-8)/2-1+(n
-8)*%(n-9)/2
=(n-2)*(2n-4)/2-2+(n-4)*(2n-8)/2-1+(n-6)*(2n-12)/2-14(
n-8)*(2n-16)/2-1

=(n-2)*(n-2)-2+(n-H*(n-4)-1+(n-6)*(n-6)-1+(n-8)*(n-8)
/2-1

=(n-2)*(n-2)+(n-4)*(n-4)+(n-6)*(n-6)+ (n-8)*(n-8)-5
=(10-2)*(10-2)+(10-4)*(10-4)+(10-6)*(10-6)+(10-8)*(10-
8)-5

= 8*8+6*6+4%4+2%2-5H

= 64+36+16+4-5
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(n-2)*(n-2)+(n-4)*(n-4)+(n-6)*(n-6)-4

T 4755 5\
(n-2)*(n-2)+(n-)*(n-+(n-6)*(n-6)+_(n-8)*(n-8)-5
= &258 5% 1 n=12
(n-2)*(n-2)+(n-D*(n-D+(0-6)*(n-6)+ (n-8)*(n-8) +_
(n-10)*(n-10)-6
=(12-2)*%(12-2)+(12-4)*(12-4)+(12-6)*(12-6)+(12-8)*(12-
8)+(12-10)*(12-10)-6
=10%10+8*8+6*6+4*4+2*2-6
=100+64+36+16+4-6

=214
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